Name: ____________________________________________________ Date: _____

Chapter 1, Section 3B Notes

Solving Absolute Value Equations
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Remember that absolute value is ___________________________________________

_______________________________.  To solve absolute value equations, follow these three steps:

· __________________________________________________________

· __________________________________________________________

· __________________________________________________________

Examples:
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Some absolute value equations have two solutions, some have one solution, and some have no solution.  The chart below illustrates the three different types of solutions you may see.
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More Examples:
5.     8 (
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Progress Monitoring:  How do you feel about your level of understanding of solving absolute value equations?  (Rate yourself from 0 (don’t understand at all) to 10 (doing awesome))
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Today’s Learning Goal:  At the end of today’s lesson, you should be able to solve an absolute value equation.








Original Equation�
Simplified Equation�
Solutions�
�
� EMBED Equation.DSMT4  ���( 5 ( 7�
� EMBED Equation.DSMT4  ���( 5 ( 7


    ( 5    ( 5


                � EMBED Equation.DSMT4  ���( 2�
� EMBED Equation.DSMT4  ���( 2 has two solutions,�x ( (2 and x ( 2.


The solutions are (2 and 2.�
�
�EMBED Equation.DSMT4���( 2 ( 2�
�EMBED Equation.DSMT4���( 2 ( 2


         ( 2   ( 2


       �EMBED Equation.DSMT4���( 0�
�EMBED Equation.DSMT4���( 0 means x ( 5 ( 0, so there is one solution x ( 5.


The solution is 5.�
�
�EMBED Equation.DSMT4���( 4 ( 1�
�EMBED Equation.DSMT4���( 4 ( 1


          ( 4   ( 4


       �EMBED Equation.DSMT4���( (3�
�EMBED Equation.DSMT4���( (3 has no solutions because an absolute-value expression is never negative.


There is no solution.�
�
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